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Question 1

Question Type: MultipleChoice

When entering customer information, an e-mail address is required. Which test design technique can be used to test this?

Options:

A- Data Combination Test
B- Process Cycle Test

C- Syntactic Test

Answer:

C

Question 2

Question Type: MultipleChoice




Although structured testing is hardly used by software engineers these days, there are other 'development’ measurements possible that
are used to increase quality.

Which ‘development’ measure first uses automated tests before the code is written?

Options:

A- Acceptance Test-Driven Development
B- Behavior-Driven Development

C- Test-Driven Development

Answer:

Question 3

Question Type: MultipleChoice

See the image below.



In order to test launch groceries logical test causes must be created based on the Data Combination Test. It has been agreed to use an
average depth test. This means that Pairwise Testing will be applied on all data:

Test cases are designed using the classification tree below:
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What is the minimum number of test cases that will be generated when using the Pairwise Testing technique? (What is 'N' as a
minimum?)




Options:

A-3
B-9
C-12
D- 243

Answer:

B

Question 4

Question Type: MultipleChoice

See the specification and image below:
"On screen, the choices 'Airplane’, 'Trains', 'Hotels', 'Cars' and "Taxis' must be included in a consecutive order."

The following screen is to be tested.



Q M
Airplane Trains Hotels

Cars

After analysis, a defect is reported with the cause: error in test basis.

What is the error?

Options:

A- The 'Taxis' option could not be selected due to a problem with the infrastructure
B- The 'Taxis' option was missing on the screen
C- The 'Taxis' option is incorrectly included in the specification

D- The developer made a mistake

Answer:

B



Question 5

Question Type: MultipleChoice

TMap NEXT is often considered as a waterfall approach, while TMap HD is considered as an agile approach.

Which TMap NEXT essential is mainly used to develop TMap HD?

Options:

A- adaptivity
B- business-driven test management
C- complete tool box

D- structured test process

Answer:

A

Question 6

Question Type: MultipleChoice




It has been decided to test the relationship between functions and dat

a. A coverage type has been chosen from the 'Data’ coverage types group. Which coverage types has been selected?

Options:

A- Decision points
B- CRUD
C- Operational profiles

D- Paths

Answer:

Question 7

Question Type: MultipleChoice

During a project, a number of scrum teams delivers tested units(programs), which are subsequently integrated and tested in a traditional
way.



In which test environment are the units (traditionally) tested first after integration of the units?

Options:

A- test environment for user acceptance test
B- test environment for the end-to-end test
C- test environment for the production acceptance test

D- test environment for the system test

Answer:

D

Question 8

Question Type: MultipleChoice

Why is the checklist that is created to assess the test basis dependent on the test design techniques to be applied?

Options:




A- The test design techniques are based on value for the user
B- The test design techniques are based on realizing the agreed test strategy

C- The quality of the test basis is determined using the test design techniques

Answer:

C

Question 9

Question Type: MultipleChoice

Why is there sometimes a conflict when setting up and maintaining the test infrastructure?

Options:

A- The infrastructure maintenance department gives priority to resolving production issues
B- The project manager and test manager have different interests

C- The testers use the same test data during test execution



Answer:

Question 10

Question Type: MultipleChoice

Which type of tool provides information about the parts of the programme code that are run during a test?

Options:

A- Code coverage tool
B- Comparator
C- Model based testing tool

D- Stubs and drivers

Answer:

A
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